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Name Hﬁu Review # 7
~ June 2018 Regents  Due: Thurs. 6/5/19
Work must be shown for each question in order to receive credit.
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| Yi = X+ - &
o= 40
X[-5 |-l | -2 vl
i 9 |-Y]14 -5 ,[I\_“’O) '
Yol -6 [ 4] -2 -5 717 X=0 = y-axis
3.NUm: X*(x42)-9(x32) + Window 4 @0
= (x+2)(x%9)=(xt2)(3)x-3)| x: [0,9] 277 Angwer
Den: X (X2-%-b)= X (X-8)(x+2) g:[w]
Froe: (X 2)xea)x3) | x+3 | TypeeachEs ®
X(X-3)(x+2) = X info Y:= 0 .
or =X Compare valves 317

> (VLY = (XHBLY &) = X P+bX (¢
= X%-9 +x

(2%-8L) "= (2X-3U)2%-30)= 43~ 12X 4%

= YX2-q -{2x0

(P+bXL-D) = (4X*-q-12%0)

¢ gven - symmedrical wrt y-axis

) Qq;/rﬂv—»x 3) i&?‘“”
z) jgyﬂ §) ]F, x

= -3+ I8XL 317
7. N(t))sfﬂ.m N(15)= 70.822 | 5. X expression:21.71916032
N(10): 70.455 N(25): 56.27 ]) 21.71916032
AV9%§QA= ﬁg (30} 50.158 7)-15.97995152
3)~5.6711693
[1,10)~-2.03  [1526]~ -|.4¢ 4)) 07, 002345 3

[10,20]~~1.63 [1, 801 1.6t
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27. 1¥t+5Y48=0
bE-yacs 25-4(2)(8) =39

NF = (13
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Ty
. (X +X: 1%+ 30-9 w Colculate: 2319<5
(o-2x)=(x+21) | .
gy e USeResVIHS
oD% - KHHIXHE 030+ 2 (1.548)
0 X 44 X+439 030+ 2,000 must
0=(X+15)(x+29) {~[5} Rl 3?3&
Y15 X2 (-3.07,313)
checks: Explain.
(=TT i5+ Liisto)- gfs becauvse Joseph's
b-15=0-9
474 difterence inmeans (6)
[6-7(23) - 19 = 149+15)-9 15 outside the 5%,
5-29 = -24-9

-71 4 -37

confidence interval.
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